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D()\:I) + Hyam27w3) = )\D(Q},(Eg,d}g) + uD(y79:2,933),
D(a:h)\m + /,Ly7.’.133) = )\D(l?l,w,mg) + MD(mhy?mZ})?

D($1,$27)\$+ny) :)\D(w1:$2a$)+ﬂD(mla$27y)~
(2) OO0 (D00 20000000000000)0

D($1,$2,$3) = 7D(w27w17w3)
= —D(x1,x3,T2) = —D(x3, 22, 21).

000 D(z,x,y) = D(x,y,y) = D(z,y,x) = 0.
(3) 00000 000000 & = (uy,up,us) 000
oo D(ul,UQ,'U,g) =1.

00 D(z,y,z) 0000000 (signed volume) 0000

004000000 1NM0000000@ = z1uy +
Tous +x3uslly =y +--- 0000000000
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Multibody Dynamics
(060 00DOODOOOOO)

goog

20060 120 10

§1 0000

00000000 y0OO0OO00O0 e0DO0O0OO0AOOOOO
Oddd«00000C0C0O0OOOOOO

m[00 15(0000): D0D0OD0OD0O0eeVOOODODO
O00zeVOOODAOODOUDOODOOO
Ra:o(x) := (a-x)a+ cosb(x — (a-x)a) +sind(a x x)
ooooo

>Q

gbooooboobobO0obobOde-0OO00OO0O0 eOOO
OU0«00000000o000000

(9)

rT=u-+7v

a0 00000 00000w0000 ||ul =

|z|cosa 000000 |e|=10000000000

lull=]alllz|cosea=a-x0000000000 a
0000 «000000000000DO

(10)

u=|ulla=(a-x)a
go0o0o0ooooooooooo
(11)

v=z—(a-x)a

00000ooooooooooooooooo 100w
ooooooooog

gobobobooobooboyo0ooboooobooboooobooo

w=axz (12)

0o000oo000000wO0a,z0 2000000
ooooooooooooboo0 wOOOOOOOO @
oobooooo

wOODODOODODOOO0O0D0000000 |w| =

|v|D000000e, 00000 «0O0O0DOOOO
OU00oooO00||wl=|leaxz|=]allz|sina=
|z|sina 00000000 w, v, 000000000
0000|v|=|z|sihaD000000000

[wl =|=z|sna=v]

goboooobboooooooobyv,wOOOOOODO
000000000 600000000000

v’ = cos fv + sin fw

0000000y =u+v = u+ cosbv + sinfw O
0000000 (10)0(12) 00000000 15000
y=(a-z)atcosb(x—(a-z)a)+sinf(axx)0000

(cosB)v +\(sin OHw

§2 00O

m00 16 (000): 000 acV (|a|=1)000
0000000 f#eROOOO w:=faecV O0OODO
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(angular velocity) 00000 O € ADDOODDO0 w
000000 P=0+=200000
T=wXx
ooooo
Erb) 0=0(t) x 82, BBFTH y(t) = Raow) () Z 55

3 5%, §(t) = 0—0sinf(z—(a-z)a) +0 cos O (ax
x) B, EE&Y @(t) = §(t)|o=o.

m00 17 (0000000): Oc ADDDD w, €V
000D0DD000* 00000 w, eV ODODOOOOO
(O0DD)0000D0000000 POOODOOOOO
000000 w=w +w, €V 00000

EXbr) P=0+tzn®EWa = (w1 Xxx)+ (w2 X ).
§3 0OQOQOO

Jdddd 0000000 yOOOO:
F n
mr—)g:F(m)ER
gooog

m(0 18 FOOOOODDOODOODDO AO0DDOO
F(z)=Az00000O0O0O0O0OO0DOOOOO

(1) Fx+y) = F(z)+ F(y)O
(2) F(Ax) = AF(z)0 (A € R)

0ooo(oon)

o000 21: 000 20000000000 F:x—y
000000 (linear transformation) 00 0O

00 8(00000) a=le) eR300000000
00000 z=[z) €eR?O0D0000000000

a:»iry:C(m) = axx

000000000000000D0 CO00000000
00C=e*000000(p5-10 (01)000)
§4 0000

00000 ¢,y eR*000000000 y = F(x)
00000000 18000000 3x3000

000D00F(z)=A:00000

009 z=[2,]0000y=[y]=F(x)00ODODO
00do00o0ooo0ooUUooOooUoUoo AQoo
gooooboo0oobob «t000D00O00DOOODOO

“O0OoO00000 200000000000000000 (rigid
body) DD OO

6-2

000 10000R*0000000 (1,0,007 000
0o0oooooon

1 711 T2 Tz |1 11
F (0| ] =71 722 723| |0] = |721
10 1731 732 733] [0 731
0000200 300000000000000O000
[0] (712 0] 713
F 1 = [T92|, F 0 = |73
10 | 732 1] 733
O0o00o0oo0o0ooooooooa
oo0 22(@o000): e; = (1,0,---,0)7, ex =

(0715“'70)Ta“'
gooooooo

,en=1(0,0,---, )T e R*" OOR" O

m00 19 (0000) 0000 Fle) 000000
F(e1),F(es), - ,F(e,) 00000000000
A= [(61),F(€2),~-- 7F(e’ﬂ)]
O00D0D00F(x) =Az0000D0ADDFOOODO
(matrix representation) OO0 A= [F]O0O00O
00 10 (00000) 00000 a”(z) =axa DO
000 [@X]00000
cb) €12 (p51) EREFT DY, a=[ai], =[x 1Z
HLT,
ai a2x3 — azT2
az| X = |a3T1 —a173
as

xTs3 a1T2 — G271
TN F,

1 a20 — a30 0

0 a31 - a10 = as

U (110 — (121 —asz
X

1Z&-72, [@a*]n 1 FIBAHEAT S, UTREEZRSN&F.

X1

a*(x) T2

“Hh>5.

X
a —

0000000000000 [eX]000000000
00 [@X]T = —[@X]00000000000000O0O
[@¥]000000000000000000000

00 11 Rap(x) 000 15000000000

(1) Rey 00D0DDDOODOODOD
(2) 0000 [Rey) 000DOODOODOOOODO

000 23(0000): DOODO0OOOOOO

(1-a})Cy  araz(l—Ch) araz(l—Co)
+O¢% —as3Sh +a92Sh
[Rasg] = araz(1—Cy) (1—a3)Co  asaz(l—Cyp)
a:6 +as3Sy +a§ —a150
araz(l —Cy) asaz(l1—Cy) (1 —a3)Co
—a2Sp +a1Se +a3

0000000000 000 sinf = Sy, cosf = Cp



Jooooogod
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